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The two ovaries remains attached/connected to the

ST 33T, o, A ¥

a.
b.
C.

d.

Pelvic walls and the Uterus (sTor fifer qam atsierr @)
The Fallopian tube (373aTfg=iT A TorepT )

The fundus (I Je=T W)

Al of the above (3IRIerd H & T & TT1)

The process of formation of mature Female Gamete is called

Teh qRYeFa HIGT JIHe & HTOT T Gfshar, Fgerreh 8

a.
b.
C.

d.

Spermatogenesis (}[shsTeTsT)
Spermiogenesis (}[T0TsTeTe)
Oogenesis (3T3sTeTeT)
Gametogenesis (JIFHhoTeTe)

The remaining part of Graffian follicle, after ovulation, is termed as :
37SIcHT & d1C, m@rgwwﬂsrwgmammamﬁmm%?

a.
b.
C.

d.

Primary follicle (JTuf&s Je)
Villi (wrael)

Corpus albicans (19 3ifeacha)
Corpus luteum (d U3)

In females, Oogenesis gets started at
FHTET 3 3SSToToT T EHT el Ehell &2

a.
b.

C.

Embroyonic developmental stage (3J0rar fashrar & gRre)
after 12 years (12 99T & d1¢)

after 14 years (14 95T & 915

after 7 years (7 981 & dT<)



Implanatation is the process related to:

R TeT T gfohaT Hafia g

a. Embedding of Blastocyst in the Endometrium of the Uterus.(ShRehTET o1 IRl 3ef:&X &
37T TIT9)

b. Embedding of Blastocyst in the Myometrium of the Uterus.(w T IrefTerly ey TR A
37T TIT9)

c.  Embedding of Blastocyst in the Perimetrium of the Uterus. . (ShIRerqET T GRETHTRRT 3 37T €uTTe)

d. Formation of an Embryo (80T & fe¥aior)

Oxytocin helps in

AR FETTh &

a. In Uterine contraction & Parturition (ST$TerY Heperat T R 5o )
b. In Maintaining Pregnancy (FaT3TdT &Y STRY 3@ &)

c.  Milk synthesis (G7er ferToT)

d. Al @sh

Oxytocin is secreted by

SRR o7 AT v 3 & R T g &7
a. Pituitary gland (¥ 3if2)

b. Adrenal Gland (3if&igersh 4f)

c. Pancreas (319<1R0)

d. Thymus (UTSHH)

Innate immunity is an example of ...

Tt UfaReT fovet & & fraeht 3eTexor &2
a. Non Specific type (37fafrse )

b. Pathogen specific (JeToTeTeh faferse)

c. Fast response (g wfafsha)

d. None of the above(3eTH & &S TgY)

Which of the following statement is correct?

i1 & & et AT HYUT TET 82

a. Primary immune response is very fast. (ITaf&eh 37fshar g I giarel)

b. Secondary immune response is slow. (&farcirareh 3rTfshar el g 1)

c. Vaccination works on the principle of Memory of immune system. (EleTeRRoT, YfaRET dF &
I1eared & fAeHid W H T8 )



10.

11.

12.

13.

14.

15.

d. Antibodies are produced by T-lymphocytes. (TR T Scatee &, FTAehII] o garT fohar ST 1)

Pollen grains represents:

RITHRYT, Tt 7 & fhaerr gfafafeca swarg?
a. Male gametophyte (7R ZIHPIGHT)

b. Female gametophyte (¥ ZIHRICHT)

c. Both (3WI&Fd gl

d. Neither A Nor B. (378 & IS =181

Which one is not a part of FALLOPIAN TUBE?
AFT 7 Q T STarfeait o srer 187 &2

a. Ishthmus (3¥IHH)

b.  Ampulla (fSsh)

¢. Infundibulum (RT9e)
d. Cervix (3T$11_RT fam)

Central Drug Research Institute (CDRI) is located at
T INTE JeTHT HEATeT el afedd g2

a. Delhi (fgeeln

b. Kolkata (&Tefehrdm)

c. Lucknow (eTde3)

d. Ranchi (T=)

If a couple have 5 girls, then the percentage probability of 6™ child to be a girl, will be
Ife T 3. Fr ura o1 fhar § T &S ST & oI5 gl T ITTerd THTGAT fohdeir g9

a. 25%
b. 50%
c. 75%
d. 100%

Lac Operon Model is given by :

ol gaTelsh oI ieard et 7 8 fohetah garT fear ram?
a. Jacob and Monad (St 3R HI=TS)

b. Hershy and Chase (8% 31X 3=)

c. Darwin (3TTde)

d. Mendel (H3e)

The experimental proof for Semi conservative mode of Replication get demonstrated by:

“21.TA.T. YicToh ciareT Teh 318] el 9sharr &7- 38 Yralfates & & foharel Fie fonar?



16.

17.

18.

19.

a. Jacob and Monad (Sishe 31X HITS)
b. Hershy and Chase (% 3{X 3=1)

c. Darwin (3TTde)
d. Meselson and Stahl (F&IHeT 3T T2TeT)

In which of the following case, the Genotypic and Phenotypic ratio will be same?

AFfafEd & & fohe AT & 37Tea RIeh TUT IR 34T HATH glam?
a. Multiple allelism (a-g'aﬁ‘ﬁm)

b. Co-Dominance (T FHTfadT)

c. Pseudo-dominance (f&rzar werrfadr)

d. Incomplete dominance (379UT FeTTaa)

The distance between A and B genes is too long on a chromosome. The strength of linkage between them
would be

afe; fordlY IO & foheil T ST A 3R B o o1 T g gt 3178 &, ¥ $e1eh il & Feeleotdll 1
NIESEICIE

a. More (SIT1aT)

b. Less (sh&)

c. Not related to distance (GJI & 1S Heftr )

d. Equal to the distance between the two genes (Gt SfieT & &Tel & g3 & SRTeR)

Which of the following hormone is responsible for the maintenance of Endometrial lining of Uterus?

Te=TiTnd 3 O SieT @1 grHfe, THTT 37T TR T 970 TWT 3 HET &2
a. Testosterone (SECIECIT)
b. Progesterone (Mo IeT)

¢. L.H(Terw)
d. F.S.H (Uh.ug. u)

Removal of Anther from a flower bud is called as

el T Shell W TRIITRIRT ShY §CTe ol FTohaT ahl &FT gl STTdT 87

a. Cutting (3pTceT)
b.  Masculation (AREReIRIE)

c. Emasculation (faq&eT)

d. Castration (ST&T &)



20.

21.

22.

23.

24.

Which of the following is not considered as a criteria for being a Genetic Material?

fveT 31 & let AT 31T Tere &7 Tk ATIES L 82
a. It should be able to generate it’s replica.
SoTH 3T FTcTehicl T Sellel 2l &THAT Blail TR |

b. It should provide the scope for slow change.

goTdl il I1TY & Seeltd T I[STer gleil AMfg |
c. Itshould be chemically and structurally stable.

U Moo AT HWeATcAS ¥9 § T8 glaAT anfgu|
d. It should be highly unstable.

S8 qUTEUUT TR BlelT AR T

A typical angiospermic embryo sac at maturity shows

TROEadT & T, Teh TIET IATgaaion S0 IV, T& T X -
a) 8nucleate 7 celled (8- #geFellehd], 7-ahIfRIhI)
b) 7 nucleate 8 celled (7- ¥gFellehd, 8-shITRIHI)
c) 8nucleate 8 celled (8- #geFellehd], 8-ahIfRIhI)
d) 7 nucleate 7 celled (7- #geFeliehd, 7-hIRIhI)

End of the menstrual cycle is called:

TS S FATICT AT Fgelldl 82
a) Menopause (ISifergie)

b) Menarche (T3i1EeTe)

c¢) Owulation (373IcHaT)

d) Insemination (FrEAT=T)

Which one of the following is an example of chromosomal disorder?

IO fAEIT T Teh SETeRT et 872
a. Haemophilia (& fhferam)
b. Thalassemia (Jerfafaam)
c. Phenylketonuria (%aITgel IR

d. Down’s syndrome (3131 f&319T)

Crosses between F; offspring and either of their parents are known as

F, Hfa 3R 3Teh Gl AT T # & fohel) Teh & o< Heh<oT hl T gl 67
a. Inbreeding (31T FoteleT)

b. Back cross (s shTH)

c. Dihybrid cross (GfaE® 1)



d. Test cross (IRETY THT)

25. Which of the following statement(s) is/are correct with respect to an Enzyme.
Teh USTISH o Ted H, Tio=TiTchd HUT 7 I Dol AT HUA TET 87
a. All Enzymes are Proteins. (T3 oA Uil h ST 8l & 1)
b. All Enzymes are Proteins except Ribozyme. (RTSSISIISH ol OIS, THT USISH Yl h ST alcd & 1)
c. All Proteins are Enzymes. (T3 WéT, TomsH §1)
d. None of the Enzymes are Protein. (1S 3ff Tass, WA 6T &1)

26. Which of the following RNA is used to carry the amino acids to ribosome during Translation:

foveet 3 & et 1 HRTA.T., 37T e B, IR b GRIeA, TSNS & TgTl &2

a. m-RNA (TH. AR.TA.T)
b. t-RNA (&-31R.T1.7)

134

s-RNA (TH.31R.T.0)

o

sN-RNA (TH.T, 3. T.0)

27. The Functional Unit of Inheritance is :

SR Y SHTS §:

a. Gene (SfleT)

b.  Chromosome (I[OTHA)
c. DNA (S.Ta0)

o

All of these (3TRTSFT T

28. In split genes, the exons are ......... .

a. Introns(3TcTadeh)

b. non coding sequences (siTeA-ahITSaT 3TeIsha)
c. coding sequences (ITSaT 3ieIshd)

d. operons.(ddTeleh)

29. The Genetic code is degenerate because:
3MTed ek e, BT Fe 8 g ST &, Flih

a. One amino acid is represented by only 1 codon.
Teh JHIGAT 31T % T el Ueh Yehe gl o

b. One amino acid is specified by the 2 codon.
Teh 31 31FeT & fIT 2 gepe 81 &

¢. One amino acid can be represented by more than 1 codon.
Teh 3T 3Fl, Teh @ 3HTeh Tehel GaNT Fied &1 Heohl &




d. 1 codon can code for many amino acids.

Teh Yehe, Teh U 37k 31T 31l ol i Y Hehel ¢ |

30. The chromosomes are made up of two thread like structures. These thread like structures are called as:

Teh IUG &l 13l A AR ST g1l &, ST hgellel &
a. Chromatin (IATE)

b. Centromere (HeIHRR)
c. Chromatid (#HTEE)

d. Chromonemata (hIHIfAHTET)

31. In a DNA molecule, which of the bond is found to be present between the two NITROGENOUS BASES
Tl 31010, A HiS[E &Y AT d &TRT & HEY UIT Sileidel Stiel &l v A1 @ RIS &

a. Phosphodiester bond (IERISIITEC HTEE)
b. Glycosidic bond (FeraepIfaTSs 3Taer)

c. Hydrogen bond(gT83IsTeT 3TeY)
d. Peptide bond (4TCI83 3TeE)

32. The Unwinding of DNA is catalyzed by (S1.U.U. & &Ml Toofehl & JUFhIHOT H hleT AT 3
(USTTSH) HETI &)
a. Helicases (gfeichor)
b. DNA Polymerases (3).T1.T qTfeidisT)

c. Topoisomerase (STAI3MSHATHIST)
d. DNA ligase (37.U<1.T SI1S3IaT)

33. The Replication of DNA takes place in:
(3.0 T Y yfcrhicr b gaam & gici 87)

a. 5°—3’ polarity always (FH2IT 5°—3’ i_{éﬁ?ﬂ )

b. 3’ —5 polarity always (AT 3> —5 I #)

C. 3’ —5’ (in Leading strand) (elf3dT o] H3 -5 W )
d. 3’ —5’(In lagging strand) (etf3teT oo H3 -5 ‘{JﬁPIIFIT )

34. In a DNA molecule, bond between NITROGENOUS BASE and SUGAR molecule.
forelt SY.0a1.T. & HiS[g Aselsiiigh &TR 3T AT 30T & HEY ATV SfTidel Se1eT i fohd A1 & TR

AT ?

a. Phosphodiester bond (BIERISIITEEI 3TEE)

b. Glycosidic bond (FeTeRIT&TSH 3Taer)
c. Hydrogen bond(gTSarsTeT 3TaE)



d.

Peptide bond (4TeT88 31TeY)

35. The enzyme that helps in Reverse Transcription is

gg UaTsH, it Ray ciafshedsT & #Ace T e

a.

Polymerase
qiferAST

Ligase

CIELIS]

Reverse Transcriptase
Topoisomerase

AR KIES3 e rec



